EARAROBEEIERT — 2 N— IBISH —F 2016528138 (£) 1EFRF5H

il %%57 10007T ¥5R4mEs HExl &8 [xmrm | ewm — |2 0 wonn
[A&4] 1 7 15,000,000 § 2 7% :6,000,000 § 33 :3,800,000 4 3% :2,300,000 5 & :1,500,000 M
B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
> L 4 5 | SHEXH 1:45.5 1-1-1 34.5|105.5| 6 472 | MIEIEE (EH)
123127 T 1 55.0 (—) o | @ ¥55Ly k95T 5747
R:TF7AT7 X214 L B:v1xKY—-X EvJILy RT7—L4
N 4 4 | - 1:46.2 4-4-3  |34.3| 97.9 | 3 430 | BEAAA (i)
10/ ¥==I=J0 54.0 @ e e
XL ThHANAN B:O—HT5>h J—HrTr—LA
N = 4 | M. FL-0O 1:46.4 6-7-7 | 34.1]95.8 | 1 474 | EHEF (BR)
1177774 54.0 (1 1/4) © |TEEA-LF LT ()
RWN—ErYr— B:TIr—ZXbF17T J—HrTr—L
s _= 4 | HHEEE 1:46.5 10-8-8 [34.0| 94.7 | 8 454 | M EESL (i)
4| ZRINI—F 17 R i i (i20) | HIE
R:FFHRFFT BHLF-XIAIN2 J =% Ty — I
REERS 1:46.7 2-2-2 . 2. 14 | 478 |BEREEHA (EH)
13 I)—7z7Y— [B] o 5%.0 (1 16/2) %5 929 (_48) BINEHE
LTNTFINZL2 B:¥xexX71-0b AAFRBEFERASE RS
S : it 4 | FlBEX 1:46.7 8-8-9 |34.1| 925 | 4 426 | BRE (FER)
14| 7RI 54.0 (NF) 6) | B) HAEL-2F-2
LNn—ETVrv— B:IafFREAX—L () #A—-KL—va>AET7 7
s 5 o4 | EHE 1:46.8 4-5-6 |34.6| 91.5 | 7 426 | RIEBN (BH)
L—XK71)T 54.0 (1/2) (+6) BRI ILY

/0704 BATYOR-=A~L LLIY% 45T 7—1I

23 | 8l=2l3loele ool a]e ]~ 8
[&)] ~ [&)] c | oo — ~N (F®
[$2]

— — [ AITE: TN :46. -11- . . KEFEL (E#)
g|31on—51— i 5 el 1(;1?:? 10-11-11 [ 34.1] 90.4 | 2 (m) j(g;g
R:d—W K7 U2—Ib B:FT1 MEA b J—HrTr—L
: K AEEE 1:47.2 12-11-11 | 34.4 | 87.1 44 | REREX (EH)
2 TRV —~ [B] * 5 55.0 (1 3/4) 8 8 5 8) iﬁ%ﬂ—
LF =T BivaT— /YT b
5 4 6 | C. x—Jb 1:47.4 9-8-9 [34.8| 85.1 | 10 | 492 |hOEEMESL (5id)
6 T =AY — 55.0 (1 1/4) (-12) %) 74— -5>F
L RKYIYIXIZX B:UYS7T—Ib WFHRE
H & 147, -5- . . RMEED (ER)
Wl rs7270— it 6 o 1(74{:;1 6-5-5 |35.4| 85.6 | 11 ;1;8) e
T4 =TANI b BiYvyXk—T—2 b =Y Ty — L
. i 6 | BIBIEA 1:47.9 14-14-13 [34.7 | 79.6 | 9 478 | BERAIGE ()
3| 7= [B] 55.0 3) (+8) (;ﬁ) *vAy hT7—L4
T4 =TA427 b B:TLFNLY—F J =Y Tr—L
=% 44 | BHEIER 1:47.9 12-11-13 [ 34.7| 79.6 | 13 | 468 |#AZHEEA (i)
7| LFTZyiN= 54.0 (NF) 4y | @0 LA
R:AFAd—ILK B:LAvl1a F0O8%
S — jt 5 | EORE 1:48.0 3-3-3 [36.2]80.2 | 12 | 452 |HHEEE (EX)
9 EXx=-_X&4J)L 55.0 (3/4) (+16) BllEE
R:F4—TA2T N B:T4N)ya (/) HEa-—KL—Ya> AET7
@ 21 L
£y 45.9-34.5

NAZZA L | 12.8-11.3-11.7-11.9-11.9-11.4-11.0-11.6-11.9

@ 11— —EBIRfL

13—7-

230—7F— |[12,13,9(5,10) (1,11)14,6(4,8) (2,7)3

30—F— |[12,13-9,10(5,11)1(4,6,14) (2,7,8)-3

43—F— |12,13-(9,10)11,5,1,4(6,14) (2,8)-(3,7)

[ F/N=5

BB 12 1,740 | | 74 K 10-12 1,410 | | # &= 6-7 4,010/ | | =& | 1-10-12 5,180

7 B 12 370M 1-12 1,000 | | & = 10-12 4,780/ | | 3EE | 12-10-1 57,280
10 190/ 1-10 430 | B B 12-10 11,400
1 180

ABICOVWTRDTEEERROODE. TR LIV,



